
Suspension

August 2016
New applications for existing MEYLE parts

Ball joint 11-16 010 0000

Front Axle Left
Front Axle Right
Lower

Thread Size M14x1,5

Notes

New applications
CITROËN Berlingo I (07/96-12/07)
DS DS 4 (07/15--)

DS DS 5 (04/15--)

Ball joint 11-16 010 0004

Front Axle Left
Front Axle Right
Lower

Thread Size M18x1,5
with accessories

Notes

New applications
FIAT Ducato (244) (04/02-07/06)

Ball joint 11-16 010 0013

Front Axle Left
Front Axle Right
Lower
with accessories

Notes

New applications
CITROËN DS3 (11/09--)
DS DS 3 (04/15--)

PEUGEOT 208 (03/12--)

Wulf Gaertner Autoparts AG • www.meyle.com 1
The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

http://www.meyle.com


Suspension

August 2016
New applications for existing MEYLE parts

Ball joint 11-16 010 0017

Front Axle Left
Front Axle Right
Lower
with accessories

Notes

New applications
CITROËN C Elyse (11/12--)
CITROËN C4 Cactus (09/14--)
DS DS 3 (04/15--)

PEUGEOT 2008 (03/13--)
PEUGEOT 208 (03/12--)
PEUGEOT 301 (11/12--)

Ball joint 116 010 0012/HD

Reinforced Version
Front Axle Left
Front Axle Right
Lower

Hole Pitch 1/ Hole Pitch 2 80 mm
Thread Size M14x1,5

with accessories

Notes

New applications
VW Transporter VI (04/15--)

Ball joint 116 010 0013/HD

Reinforced Version
Front Axle Left
Front Axle Right
Lower

Hole Pitch 1/ Hole Pitch 2 77 mm
Thread Size M14x1,5

with accessories

Notes

New applications
VW Transporter VI (04/15--)

Wulf Gaertner Autoparts AG • www.meyle.com 2
The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

http://www.meyle.com


Suspension

August 2016
New applications for existing MEYLE parts

Ball joint 116 010 0015

Front Axle Left
Lower

Paired article numbers 116 010 0016
Thread Size M12x1,5

Notes

New applications
VW Bora V (Mex) (01/07--) VW Passat (A32) (04/11-12/14)

Ball joint 116 010 0016

Front Axle Right
Lower

Paired article numbers 116 010 0015
Thread Size M12x1,5

Notes

New applications
VW Bora V (Mex) (01/07--) VW Passat (A32) (04/11-12/14)

Ball joint 116 010 0022

Front Axle Left
Paired article numbers 116 010 0023
Thread Measurement 1 M12x1,5

with accessories

Notes

New applications
AUDI TT (8S) (09/14--)

Wulf Gaertner Autoparts AG • www.meyle.com 3
The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

http://www.meyle.com


Suspension

August 2016
New applications for existing MEYLE parts

Ball joint 116 010 0023

Front Axle Right
Paired article numbers 116 010 0022
Thread Measurement 1 M12x1,5

with accessories

Notes

New applications
AUDI TT (8S) (09/14--)

Ball joint 316 010 0002

Front Axle Left
Front Axle Right

Thread Size M14x1,5
with accessories

Notes

New applications
BMW X5 (E70) (02/07-03/10)

Control arm 016 050 0031/HD

Reinforced Version
Front
Front Axle Left
Lower

Paired article numbers 016 050 0032/HD
Aluminium
Control Arm
with rubber mounting

Notes

New applications
MERCEDES-BENZ BM 172 (SlC) (01/16--) MERCEDES-BENZ BM 212 (E-Class) (01/09-08/11)

Wulf Gaertner Autoparts AG • www.meyle.com 4
The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

http://www.meyle.com


Suspension

August 2016
New applications for existing MEYLE parts

Control arm 016 050 0032/HD

Reinforced Version
Front
Front Axle Right
Lower

Paired article numbers 016 050 0031/HD
Aluminium
Control Arm
with rubber mounting

Notes

New applications
MERCEDES-BENZ BM 172 (SlC) (01/16--) MERCEDES-BENZ BM 212 (E-Class) (01/09-08/11)

Control arm 016 050 0033

Replace in pairs only
Front
Front Axle Right
Lower

Paired article numbers 016 050 0034
Aluminium
Control Arm
with rubber mounting

Notes

New applications
MERCEDES-BENZ BM 231 (SL) (01/12--)

Control arm 016 050 0034

Replace in pairs only
Front
Front Axle Left
Lower

Paired article numbers 016 050 0033
Aluminium
Control Arm
with rubber mounting

Notes

New applications
MERCEDES-BENZ BM 231 (SL) (01/12--)

Wulf Gaertner Autoparts AG • www.meyle.com 5
The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

http://www.meyle.com


Suspension

August 2016
New applications for existing MEYLE parts

Control arm 016 050 0066

Front Axle Left
Lower
Rear

Paired article numbers 016 050 0067
Aluminium
Control Arm
with ball joint
with rubber mounting

Notes

New applications
MERCEDES-BENZ BM 172 (SlC) (01/16--)

Control arm 016 050 0067

Front Axle Right
Lower
Rear

Paired article numbers 016 050 0066
Aluminium
Control Arm
with ball joint
with rubber mounting

Notes

New applications
MERCEDES-BENZ BM 172 (SlC) (01/16--)

Control arm 116 050 0002/HD

Reinforced Version
Front Axle Left

Paired article numbers 116 050 0003/HD
Control Arm
Sheet Steel
with rubber mounting

Notes

New applications
AUDI A3 (8V1, 8VS, 8V7, 8PA) (04/12--)
VW Gol III

VW Golf VII (08/12--)

Wulf Gaertner Autoparts AG • www.meyle.com 6
The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

http://www.meyle.com


Suspension

August 2016
New applications for existing MEYLE parts

Control arm 116 050 0003/HD

Reinforced Version
Front Axle Right

Paired article numbers 116 050 0002/HD
Control Arm
Sheet Steel
with rubber mounting

Notes

New applications
AUDI A3 (8V1, 8VS, 8V7, 8PA) (04/12--) VW Gol III

Control arm 116 050 0017

Front Axle Left
Front Axle Right
Upper
Aluminium
Control Arm
with ball joint
with rubber mounting

Notes

New applications
AUDI Q7 (4M) (06/15--)

Control arm 116 050 0017/S

Front Axle Left
Front Axle Right
Upper
Aluminium
Control Arm
with accessories
with ball joint
with rubber mounting

Notes

New applications
AUDI Q7 (4M) (06/15--)

Wulf Gaertner Autoparts AG • www.meyle.com 7
The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

http://www.meyle.com


Suspension

August 2016
New applications for existing MEYLE parts

Control arm 116 050 0032/HD

Reinforced Version
Front Axle Left

Paired article numbers 116 050 0033/HD
Cast Steel
Control Arm
with rubber mounting

Notes

New applications
VW Gol III

Control arm 116 050 0033/HD

Reinforced Version
Front Axle Right

Paired article numbers 116 050 0032/HD
Cast Steel
Control Arm
with rubber mounting

Notes

New applications
VW Gol III

Control arm 116 050 0092

Front Axle Left
Front Axle Right
Aluminium
for control arm
with rubber mounting
without ball joint

Notes

New applications
AUDI TT (8S) (09/14--)

Wulf Gaertner Autoparts AG • www.meyle.com 8
The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

http://www.meyle.com


Suspension

August 2016
New applications for existing MEYLE parts

Control arm 116 050 0096

Front Axle Left
Lower

Paired article numbers 116 050 0097
Aluminium
Control Arm
with ball joint
with rubber mounting

Notes

New applications
AUDI Q7 (4M) (06/15--)

Control arm 116 050 0096/S

Front Axle Left
Lower

Paired article numbers 116 050 0097/S
Aluminium
Control Arm
with accessories
with ball joint
with rubber mounting

Notes

New applications
AUDI Q7 (4M) (06/15--)

Control arm 116 050 0097

Front Axle Right
Lower

Paired article numbers 116 050 0096
Aluminium
Control Arm
with ball joint
with rubber mounting

Notes

New applications
AUDI Q7 (4M) (06/15--)

Wulf Gaertner Autoparts AG • www.meyle.com 9
The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

http://www.meyle.com


Suspension

August 2016
New applications for existing MEYLE parts

Control arm 116 050 0097/S

Front Axle Right
Lower

Paired article numbers 116 050 0096/S
Aluminium
Control Arm
with accessories
with ball joint
with rubber mounting

Notes

New applications
AUDI Q7 (4M) (06/15--)

Control arm 116 050 0137

Front Axle Left
Lower

Paired article numbers 116 050 0138
Aluminium
Control Arm
with ball joint
with rubber mounting

Notes

New applications
AUDI TT (8S) (09/14--)

Control arm 116 050 0138

Front Axle Right
Lower

Paired article numbers 116 050 0137
Aluminium
Control Arm
with ball joint
with rubber mounting

Notes

New applications
AUDI TT (8S) (09/14--)

Wulf Gaertner Autoparts AG • www.meyle.com 10
The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

http://www.meyle.com


Suspension

August 2016
New applications for existing MEYLE parts

Control arm 116 050 0181/HD

Reinforced Version
Front Axle Left

Paired article numbers 116 050 0182/HD
Control Arm
Sheet Steel
with ball joint
with rubber mounting

Notes

New applications
VW Bora V (Mex) (01/07--) VW Gol III

Control arm 116 050 0182/HD

Reinforced Version
Front Axle Right

Paired article numbers 116 050 0181/HD
Control Arm
Sheet Steel
with ball joint
with rubber mounting

Notes

New applications
VW Bora V (Mex) (01/07--) VW Gol III

Control arm 316 050 0007/HD

Reinforced Version
Front
Front Axle Left

Length [mm] 600
Paired article numbers 316 050 0008/HD

Control Arm
Steel
with rubber mounting

Notes

New applications
BMW X5 (E70) (02/07-03/10)

Wulf Gaertner Autoparts AG • www.meyle.com 11
The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

http://www.meyle.com


Suspension

August 2016
New applications for existing MEYLE parts

Control arm 316 050 0008/HD

Reinforced Version
Front
Front Axle Right

Length [mm] 600
Paired article numbers 316 050 0007/HD

Control Arm
Steel
with rubber mounting

Notes

New applications
BMW X5 (E70) (02/07-03/10)

Control arm bushing 014 610 0013

Front Axle Left
Front Axle Right
Lower

Height [mm] 80
Inner diameter [mm] 15
Outer diameter [mm] 53

Notes

New applications
MERCEDES-BENZ BM 172 (SLK) (02/11--)

Control arm bushing 034 035 0035

inner
Lower
Rear Axle Left
Rear Axle Right

Height [mm] 75
Inner diameter [mm] 15
Outer diameter [mm] 54

Notes

New applications
MERCEDES-BENZ BM 639 (Vito / Viano) (09/03-07/08)

Wulf Gaertner Autoparts AG • www.meyle.com 12
The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

http://www.meyle.com


Suspension

August 2016
New applications for existing MEYLE parts

Control arm bushing 100 407 0070/HD

Reinforced Version
Front Axle Left
Front Axle Right
Upper

Height [mm] 40
Inner diameter [mm] 10
Outer diameter [mm] 47

Notes

New applications
AUDI A6 (4G2, 4G5, C7) (11/10-05/13)

Control arm bushing 100 407 0086

Front
Front Axle Left
Front Axle Right
Lower

Height [mm] 54
Inner diameter [mm] 12
Outer diameter [mm] 40

Notes

New applications
VW Bora V (Mex) (01/07--)
VW Gol III

VW Passat (A32) (04/11-12/14)

Control arm bushing 100 610 0003/HD

Reinforced Version
Front
Front Axle Left
Front Axle Right
Lower
Outer

Height [mm] 45
Inner diameter [mm] 12
Outer diameter [mm] 44

Notes

New applications
AUDI A6 (4G2, 4G5, C7) (11/10-05/13)

Wulf Gaertner Autoparts AG • www.meyle.com 13
The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

http://www.meyle.com


Suspension

August 2016
New applications for existing MEYLE parts

Control arm bushing 100 610 0011

Front
Front Axle Left
Front Axle Right
Lower

Height [mm] 60
Inner diameter [mm] 14
Outer diameter [mm] 40

Notes

New applications
AUDI Q7 (4M) (06/15--)

Control arm bushing 100 610 0012

Front Axle Left
Front Axle Right
Lower
Outer

Height [mm] 74
Inner diameter [mm] 14
Outer diameter [mm] 47

Notes

New applications
AUDI Q7 (4M) (06/15--)

Control arm bushing 100 610 0015

Front Axle Left
Front Axle Right
Upper

Height [mm] 43
Inner diameter [mm] 10
Outer diameter [mm] 40

Rubber-metal Bearing

Notes

New applications
AUDI Q7 (4M) (06/15--)

Wulf Gaertner Autoparts AG • www.meyle.com 14
The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

http://www.meyle.com


Suspension

August 2016
New applications for existing MEYLE parts

Control arm bushing 100 610 0024/HD

Reinforced Version
Front Axle Left
Front Axle Right
Lower
Rear

Height [mm] 60
Inner diameter [mm] 14
Outer diameter [mm] 72

Notes

New applications
AUDI Q7 (4M) (06/15--)

Control arm bushing 100 610 0034

Front Axle Left
Front Axle Right
Rear

Height [mm] 50
Inner diameter [mm] 14
Outer diameter [mm] 64

Notes

New applications
VW Golf VI (5K1, 517, AJ5) (10/08-11/13) VW Passat (A32) (04/11-12/14)

Control arm bushing 300 311 2104/HD

Reinforced Version
Front
Front Axle Left
Front Axle Right

Height [mm] 63
Inner diameter [mm] 14
Outer diameter [mm] 66

Notes

New applications
BMW X5 (E70) (02/07-03/10)

Wulf Gaertner Autoparts AG • www.meyle.com 15
The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

http://www.meyle.com


Suspension

August 2016
New applications for existing MEYLE parts

Control arm bushing 300 311 2107

Front Axle Left
Front Axle Right
Rear

Height [mm] 52
Inner diameter [mm] 12
Outer diameter [mm] 47

Notes

New applications
BMW 1 (F20, F21) (11/10--) BMW 3 (F30, F31) (10/11--)

Mount, axle rod 014 035 0085

inner
Rear Axle Left
Rear Axle Right
Upper

Height [mm] 38
Inner diameter [mm] 12
Outer diameter [mm] 38

Notes

New applications
MERCEDES-BENZ BM 205 (C-Class) (12/13--)

Mount, control arm 100 199 0085/HD

Reinforced Version
Front Axle Left

Paired article numbers 100 199 0086/HD
with rubber mounting

Notes

New applications
AUDI A3 (8V1, 8VS, 8V7, 8PA) (04/12--)
VW Bora V (Mex) (01/07--)

VW Gol III

Wulf Gaertner Autoparts AG • www.meyle.com 16
The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

http://www.meyle.com


Suspension

August 2016
New applications for existing MEYLE parts

Mount, control arm 100 199 0086/HD

Reinforced Version
Front Axle Right

Paired article numbers 100 199 0085/HD
with rubber mounting

Notes

New applications
AUDI A3 (8V1, 8VS, 8V7, 8PA) (04/12--)
VW Bora V (Mex) (01/07--)

VW Gol III

Mount, control arm 100 505 0014

Rear Axle Left
Rear Axle Right

Height [mm] 64
Inner diameter [mm] 12
Outer diameter [mm] 60

for drag link

Notes

New applications
VW Passat (A32) (04/11-12/14)
VW Tiguan II (02/16--)

VW Touran II (09/15--)

Mount, control arm 100 710 0010

Outer
Rear Axle Left
Rear Axle Right

Height [mm] 75
Inner diameter [mm] 14
Outer diameter [mm] 61

Rubber-metal Bearing

Notes

New applications
VW Transporter VI (04/15--)

Wulf Gaertner Autoparts AG • www.meyle.com 17
The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

http://www.meyle.com


Suspension

August 2016
New applications for existing MEYLE parts

Mount, control arm 100 710 0011

inner
Rear Axle Left
Rear Axle Right

Height [mm] 75
Inner diameter [mm] 14
Outer diameter [mm] 62

Notes

New applications
VW Transporter VI (04/15--)

Mount, control arm 114 711 0000/HD

Reinforced Version
Rear Axle Left
Rear Axle Right

Height [mm] 64
Inner diameter [mm] 12
Outer diameter [mm] 60

Notes

New applications
VW Passat (A32) (04/11-12/14)
VW Tiguan II (02/16--)

VW Touran II (09/15--)

Mount, stabilizer 100 411 0050/S

Front Axle Left
Front Axle Right

Inner diameter [mm] 16
Kit

Notes

New applications
VW Load Up (12/14--)

Wulf Gaertner Autoparts AG • www.meyle.com 18
The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

http://www.meyle.com


Suspension

August 2016
New applications for existing MEYLE parts

Mount, stabilizer 100 411 0051/S

Front Axle Left
Front Axle Right

Inner diameter [mm] 17
Kit

Notes

New applications
VW Load Up (12/14--)

Mount, wheel bearing housing 016 010 6313

Lower
Outer
Rear Axle Left
Rear Axle Right

Height [mm] 48
Inner diameter [mm] 14
Outer diameter [mm] 40

Notes

New applications
MERCEDES-BENZ BM 205 (C-Class) (12/13--)

Rod/strut, suspension 016 035 0003

Front
Rear Axle Left
Upper

Length [mm] 312
Paired article numbers 016 035 0004

Pull Rod

Notes

New applications
MERCEDES-BENZ BM 205 (C-Class) (12/13--)

Wulf Gaertner Autoparts AG • www.meyle.com 19
The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

http://www.meyle.com


Suspension

August 2016
New applications for existing MEYLE parts

Rod/strut, suspension 016 035 0004

Front
Rear Axle Right
Upper

Length [mm] 312
Paired article numbers 016 035 0003

Pull Rod

Notes

New applications
MERCEDES-BENZ BM 205 (C-Class) (12/13--)

Rod/strut, suspension 016 035 0005

Rear
Rear Axle Left
Upper

Length [mm] 343
Paired article numbers 016 035 0006

Camber Link

Notes

New applications
MERCEDES-BENZ BM 205 (C-Class) (12/13--)

Rod/strut, suspension 016 035 0006

Rear
Rear Axle Right
Upper

Length [mm] 343
Paired article numbers 016 035 0005

Camber Link

Notes

New applications
MERCEDES-BENZ BM 205 (C-Class) (12/13--)

Wulf Gaertner Autoparts AG • www.meyle.com 20
The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

http://www.meyle.com


Suspension

August 2016
New applications for existing MEYLE parts

Rod/strut, suspension 016 035 0014

Front
Lower
Rear Axle Left
Rear Axle Right

Length [mm] 332
Push Rod
with rubber mounting

Notes

New applications
MERCEDES-BENZ BM 205 (C-Class) (12/13--)

Rod/strut, suspension 016 035 0022

Lower
Rear
Rear Axle Left
Rear Axle Right

Length [mm] 257
Thread Size M10x1,5

Push Rod

Notes

New applications
MERCEDES-BENZ BM 171 (SLK) (03/04-02/11) MERCEDES-BENZ BM 209 (CLK) (06/02-03/10)

Rod/strut, suspension 016 035 0026

Rear Axle Left
Rear Axle Right

Length [mm] 257
Camber Link
without accessories

Notes

New applications
MERCEDES-BENZ BM 171 (SLK) (03/04-02/11) MERCEDES-BENZ BM 209 (CLK) (06/02-03/10)

Wulf Gaertner Autoparts AG • www.meyle.com 21
The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

http://www.meyle.com


Suspension

August 2016
New applications for existing MEYLE parts

Rod/strut, suspension 016 035 0027

Rear
Rear Axle Left
Rear Axle Right

Length [mm] 522
Camber Link

Notes

New applications
MERCEDES-BENZ BM 166 (GLS) (11/15--) MERCEDES-BENZ BM 166 (M-Class) (06/11--)

Rod/strut, suspension 016 039 1401

Front
Lower
Rear Axle Left
Rear Axle Right

Length [mm] 485
Aluminium
Push Rod

Notes

New applications
MERCEDES-BENZ BM 124 (12/84-07/93)

Rod/strut, suspension 016 039 1402

Front
Rear Axle Left
Rear Axle Right
Upper

Length [mm] 451
Aluminium
Pull Rod

Notes

New applications
MERCEDES-BENZ BM 124 (12/84-07/93)

Wulf Gaertner Autoparts AG • www.meyle.com 22
The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

http://www.meyle.com


Suspension

August 2016
New applications for existing MEYLE parts

Rod/strut, suspension 016 039 1403

Rear
Rear Axle Left
Rear Axle Right
Upper

Length [mm] 376
Aluminium
Camber Link

Notes

New applications
MERCEDES-BENZ BM 124 (12/84-07/93)

Shock absorber 126 623 0011

Front Axle
Gas Pressure
Suspension Strut
Twin-Tube

Notes

New applications
VW Golf V (1K1, 1K5, 5M1) (10/03-05/09)

Shock absorber 126 623 0050

Front Axle
Housing Diameter [mm] 50

Gas Pressure
Suspension Strut
Twin-Tube

Notes

New applications
VW Beetle (5C1) (04/11--)

Wulf Gaertner Autoparts AG • www.meyle.com 23
The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

http://www.meyle.com


Suspension

August 2016
New applications for existing MEYLE parts

Shock absorber 126 725 0025

Rear Axle
Bottom eye
Gas Pressure
Top pin
Twin-Tube

Notes

New applications
AUDI A4 (8EC, 8ED) (11/04-06/08)

Shock absorber 35-26 623 0000

Front Axle Right
Paired article numbers 35-26 623 0001

Gas Pressure
Suspension Strut
Twin-Tube

Notes

New applications
MAZDA 5 (CW) (09/10--)

Shock absorber 35-26 623 0001

Front Axle Left
Paired article numbers 35-26 623 0000

Gas Pressure
Suspension Strut
Twin-Tube

Notes

New applications
MAZDA 5 (CW) (09/10--)

Wulf Gaertner Autoparts AG • www.meyle.com 24
The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

http://www.meyle.com


Suspension

August 2016
New applications for existing MEYLE parts

Stabilizer link 016 060 0012/HD

Reinforced Version
Front Axle Right

Length [mm] 257
Paired article numbers 016 060 0013/HD
Thread Measurement 1 M12X1,5
Thread Measurement 2 M12X1,5

Coupling Rod

Notes

New applications
MERCEDES-BENZ BM 172 (SlC) (01/16--)

Stabilizer link 016 060 0013/HD

Front Axle Left
Length [mm] 257
Paired article numbers 016 060 0012/HD
Thread Measurement 1 M12x1,5
Thread Measurement 2 M12X1,5

Coupling Rod

Notes

New applications
MERCEDES-BENZ BM 172 (SlC) (01/16--)

Stabilizer link 016 060 0060

Rear Axle Left
Rear Axle Right

Length [mm] 239,5
Thread Size M10x1,5

Coupling Rod

Notes

New applications
MERCEDES-BENZ BM 172 (SlC) (01/16--)

Wulf Gaertner Autoparts AG • www.meyle.com 25
The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

http://www.meyle.com


Suspension

August 2016
New applications for existing MEYLE parts

Stabilizer link 016 060 0224

Rear Axle Left
Rear Axle Right

Length [mm] 230
Thread Measurement 1 M10x1,5
Thread Measurement 2 M10x1,5

Coupling Rod
Plastic

Notes

New applications
MERCEDES-BENZ BM 220 (S-Class) (10/98-08/05)

Stabilizer link 034 032 0048

Rear Axle Left
Rear Axle Right

Inner diameter [mm] 11
Length [mm] 105

Coupling Rod

Notes

New applications
MERCEDES-BENZ BM 639 (Vito / Viano) (09/03-07/08)

Stabilizer link 036 060 0000/HD

Reinforced Version
Front Axle Left

Length [mm] 230
Paired article numbers 036 060 0001/HD
Thread Measurement 1 M10x1,5
Thread Measurement 2 M10x1,5

Coupling Rod
with spanner attachment

Notes

New applications
MERCEDES-BENZ BM 639 (Vito / Viano) (09/03-07/08)

Wulf Gaertner Autoparts AG • www.meyle.com 26
The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

http://www.meyle.com


Suspension

August 2016
New applications for existing MEYLE parts

Stabilizer link 036 060 0001/HD

Reinforced Version
Front Axle Right

Length [mm] 230
Paired article numbers 036 060 0000/HD
Thread Measurement 1 M10x1,5
Thread Measurement 2 M10x1,5

Coupling Rod
with spanner attachment

Notes

New applications
MERCEDES-BENZ BM 639 (Vito / Viano) (09/03-07/08)

Stabilizer link 11-16 060 0021/HD

Reinforced Version
Front Axle Left
Front Axle Right

Length [mm] 265
Thread Measurement 1 M10x1,25
Thread Measurement 2 M10x1,25

Coupling Rod
with spanner attachment

Notes

New applications
MITSUBISHI Lancer VII (08/03-10/08)

Stabilizer link 116 060 0000

Front Axle Left
Front Axle Right

Length [mm] 270
Thread Measurement 1 M10x1,5
Thread Measurement 2 M10x1,5

Coupling Rod

Notes

New applications
VW Load Up (12/14--)

Wulf Gaertner Autoparts AG • www.meyle.com 27
The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

http://www.meyle.com


Suspension

August 2016
New applications for existing MEYLE parts

Stabilizer link 116 060 0000/HD

Reinforced Version
Front Axle Left
Front Axle Right

Length [mm] 270
Thread Measurement 1 M10x1,5
Thread Measurement 2 M10x1,5

Coupling Rod
with spanner attachment

Notes

New applications
VW Load Up (12/14--)

Stabilizer link 116 060 0020/HD

Reinforced Version
Front Axle Left
Front Axle Right

Length [mm] 335
Thread Measurement 1 M12X1,5
Thread Measurement 2 M12X1,5

Coupling Rod
with spanner attachment

Notes

New applications
VW Caddy Alltrack (05/15--)
VW Caddy IV (05/15--)
VW Passat (A32) (04/11-12/14)

VW Tiguan II (02/16--)
VW Touran II (09/15--)

Wulf Gaertner Autoparts AG • www.meyle.com 28
The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

http://www.meyle.com


Suspension

August 2016
New applications for existing MEYLE parts

Stabilizer link 116 060 0023

Rear Axle Left
Rear Axle Right

Inner diameter [mm] 10
Length [mm] 95
Thread Measurement 1 M10x1,5

Coupling Rod

Notes

New applications
AUDI A1 (8X1, 8XA) (05/10--)
AUDI Q3 (8U) (06/11--)

VW CC (11/11--)

Stabilizer link 116 060 0023/S

Rear Axle Left
Rear Axle Right

Inner diameter [mm] 10
Length [mm] 95
Thread Measurement 1 M10x1,5
Thread Measurement 2 M10x1,5

Coupling Rod
Kit
with accessories

Notes

New applications
AUDI A1 (8X1, 8XA) (05/10--)
AUDI Q3 (8U) (06/11--)

VW CC (11/11--)

Wulf Gaertner Autoparts AG • www.meyle.com 29
The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

http://www.meyle.com


Suspension

August 2016
New applications for existing MEYLE parts

Stabilizer link 116 060 0024/HD

Reinforced Version
Front Axle Left
Front Axle Right

Length [mm] 260
Thread Measurement 1 M12x1,75
Thread Measurement 2 M12x1,75

Coupling Rod
with spanner attachment

Notes

New applications
VW Transporter VI (04/15--)

Stabilizer link 116 060 0027

Rear Axle Left
Rear Axle Right

Length [mm] 80
Thread Measurement 1 M10x1,5

Coupling Rod

Notes

New applications
AUDI A4 (8EC, 8ED) (11/04-06/08)

Stabilizer link 116 060 0030/HD

Reinforced Version
Rear Axle Left
Rear Axle Right

Length [mm] 241
Thread Measurement 1 M12X1,5

Coupling Rod
with spanner attachment

Notes

New references
VW 2K5 505 465 A

New applications
VW Caddy Alltrack (05/15--) VW Caddy IV (05/15--)

Wulf Gaertner Autoparts AG • www.meyle.com 30
The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

http://www.meyle.com


Suspension

August 2016
New applications for existing MEYLE parts

Stabilizer link 116 060 0034

Front Axle Left
Front Axle Right

Length [mm] 170
Aluminium
Coupling Rod
with accessories

Notes

New applications
AUDI A4 (8W2,8W5 B9) (05/15--)

Stabilizer link 15-16 060 0013/HD

Reinforced Version
Rear Axle Right

Length [mm] 116
Paired article numbers 15-16 060 0012/HD
Thread Measurement 1 M12X1,5
Thread Measurement 2 M12X1,5

Coupling Rod

Notes

New applications
FIAT Stilo (10/01-08/08)

Stabilizer link 16-16 060 0009

Front Axle Left
Front Axle Right

Length [mm] 73
Thread Size M8x1,25

Coupling Rod

Notes

New applications
RENAULT Clio II / Thalia (02/98-02/10) RENAULT Clio III / Modus (09/04-08/10)

Wulf Gaertner Autoparts AG • www.meyle.com 31
The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

http://www.meyle.com


Suspension

August 2016
New applications for existing MEYLE parts

Stabilizer link 18-16 060 0003

Front Axle Left
Front Axle Right

Length [mm] 146
Thread Measurement 1 M10x1,5

Coupling Rod

Notes

New applications
JAGUAR F-Type (10/12--)
JAGUAR XF II (09/12--)

JAGUAR XJ (351) (10/09--)

Stabilizer link 216 060 0016/HD

Reinforced Version
Rear Axle Left

Length [mm] 115
Paired article numbers 216 060 0017/HD
Thread Measurement 1 M10x1,5
Thread Measurement 2 M10x1,5

Coupling Rod

Notes

New applications
ALFA ROMEO 4C (960) (03/13--)

Stabilizer link 216 060 0017/HD

Reinforced Version
Rear Axle Right

Length [mm] 115
Paired article numbers 216 060 0016/HD
Thread Measurement 1 M10x1,5
Thread Measurement 2 M10x1,5

Coupling Rod

Notes

New applications
ALFA ROMEO 4C (960) (03/13--)

Wulf Gaertner Autoparts AG • www.meyle.com 32
The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

http://www.meyle.com


Suspension

August 2016
New applications for existing MEYLE parts

Stabilizer link 316 060 0001/HD

Reinforced Version
Left
Right

Length [mm] 231
Thread Measurement 1 M10x1,5
Thread Measurement 2 M10x1,5

Coupling Rod
with spanner attachment

Notes

New applications
LAND ROVER Range Rover Evoque II (11/15--)

Stabilizer link 316 060 0030/HD

Reinforced Version
Front Axle Left

Length [mm] 248
Paired article numbers 316 060 0031/HD
Thread Measurement 1 M12x1,75
Thread Measurement 2 M12x1,75

Coupling Rod
with spanner attachment

Notes

New applications
BMW X5 (F15) (11/12--) BMW X6 (F16) (08/14--)

Stabilizer link 316 060 0031/HD

Reinforced Version
Front Axle Right

Length [mm] 248
Paired article numbers 316 060 0030/HD
Thread Measurement 1 M12X1,75
Thread Measurement 2 M12X1,75

Coupling Rod
with spanner attachment

Notes

New applications
BMW X5 (F15) (11/12--) BMW X6 (F16) (08/14--)

Wulf Gaertner Autoparts AG • www.meyle.com 33
The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

http://www.meyle.com


Suspension

August 2016
New applications for existing MEYLE parts

Stabilizer link 316 060 0036

Front Axle Left
Length [mm] 248
Paired article numbers 316 060 0037
Thread Measurement 1 M12x1,5
Thread Measurement 2 M12x1,5

Coupling Rod
for vehicles with active stabilizer

Notes

New applications
BMW X5 (F15) (11/12--) BMW X6 (F16) (08/14--)

Stabilizer link 316 060 0037

Front Axle Right
Length [mm] 248
Paired article numbers 316 060 0036
Thread Measurement 1 M12x1,5
Thread Measurement 2 M12x1,5

Coupling Rod
for vehicles with active stabilizer

Notes

New applications
BMW X5 (F15) (11/12--) BMW X6 (F16) (08/14--)

Stabilizer link 316 060 0042/HD

Reinforced Version
Rear Axle Left

Length [mm] 136
Paired article numbers 316 060 0043/HD
Thread Measurement 1 M10x1,5
Thread Measurement 2 M10x1,5

Coupling Rod
with spanner attachment

Notes

New applications
BMW 2 (F22,F23) (10/13--)
BMW 4 (F32, F33, F36) (07/13--)

BMW i8 (03/14--)

Wulf Gaertner Autoparts AG • www.meyle.com 34
The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

http://www.meyle.com


Suspension

August 2016
New applications for existing MEYLE parts

Stabilizer link 316 060 0043/HD

Reinforced Version
Rear Axle Right

Length [mm] 136
Paired article numbers 316 060 0042/HD
Thread Measurement 1 M10x1,5
Thread Measurement 2 M10x1,5

Coupling Rod
with spanner attachment

Notes

New applications
BMW 2 (F22,F23) (10/13--)
BMW 4 (F32, F33, F36) (07/13--)

BMW i8 (03/14--)

Strut mount 100 513 0008

Rear Axle
without ball bearing

Notes

New applications
VW Beetle (5C1) (04/11--)
VW Eos (03/06-11/10)
VW Golf IV (1J1, 1J5) (08/97-06/06)

VW Passat (3C_) (03/05-10/11)
VW Sharan (7N) (05/10-05/12)
VW Tiguan (09/07-08/09)

Strut mount 100 513 0010

Rear Axle
Round
without ball bearing

Notes

New applications
VW Sharan (7N) (05/10-05/12) VW Tiguan (09/07-08/09)

Wulf Gaertner Autoparts AG • www.meyle.com 35
The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

http://www.meyle.com

